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Which is a factor of 3l sl A Lea (o
x° —xt+2x% —4x — 47 x5 — x* + 222 — 4x — 4

X — 2

b
x—1
x+1
e S



Find the value of the expression: tyaael) dasd aa g

: ~1¥2 V2
sin (Zcos > ) sin (Zcos‘l 7)




Solve the equation:

A"

{onsite) 2022-2020 - 511 ol 35 - plall % S il iy B el ]




If h (x) = x* + 8x — 4, ch(x)=x% + 8x—4 s

find h (—2). ch(=2) 1
—24
O .a
P Ol b
—16
-12
O
-8




Solve the equation/2x — 10 = 4. AV2x — 10 = 4 dalad) s

—13




I

Rewrite ————— as an expression f.‘,_-...‘ ¥ oami B 8 —— Al aef
secx+tanx - - J“’mgﬂ secx+tanx

that does not involve a fraction. S

—secx — tanx

—secx + tanx

secx — tanx



4 4
10g215—k6log2x—~§log2x 10g215—k610g2x—-§log2x

where x > 0. X > 0 dua
O .a

15+x°

T

o i
15x° '
1 Dgz 4x3 1
O

15 + x©




Identify the parent function f (x) of J f(x) alal) sl ads
h(x) =[x]-5. .h(x) =[x] -5



Determine all the zeros of

the function
f(x) = x* — 4x3 — 32x%.

E'U'uil Jlﬁaﬂi &Q .1:\:.
f(x) = x* — 4x3 — 32x7




Find the value of the expression: tyuaeil) dadd A

¢ ( 511') ‘ ( 511-)
an\ = an|——-
O .a
-1
e ER
V2 :
2
------------------------------------------------------------------------------------------------------------- O .c




Find the inverse function of 2 dausal) A as )

4-x 4—x
f(x) = x #+ 0. Xx#E0 f(x) =
e Ol.a
i 4 ’
1 —1 —_ 1
- +—1
if () =——— % :
b
-1 _
= + —4
f7(x) ik
O




ool Jisall am3 Q.

Which of the following is an even fdaag) Alla aad L Laa (4

function?

f(x) = x3
f(x) =x3—2x




Identify the angle that is coterminal e olgii¥) alia 8 Ayl dghill ada
with the angle —g , .— g dagh)



Solve the inequality: rduliall Ja

Z2x — 3 2x — 3
=1
X+ 4 x+ 4




Determine the vertical asymptote of Al adyl) i) Jad ads
the function y = ln(x+§) — 3. Y = ln(x+§) -3

i { 7 At il Eden ol o qer - 1
P X 3 (onsite) 2022-2020 - J5¥1 Jomill £t - el e 320 ol
| ]

!




Write a polynomial function of least Cidg Aoy J8) (e agaal) 5,88 Ad)a uis)

degree, with real coefficients, and i 5355 — V5 (rauailiy dududa Clalaa
that has —/5,/5, and { among its Aol dasalls < jlial (e

zeros, in standard form.

f(x) = x3 —ix? — 5x + 5i

f(x) =x*—4x*+5



State the phase shift of J skl dal)) ada
(x + TE) (x + TE)

= COS\7> T ) .Yy =COS|- T
y 313 Y 37 2

O .a
31T
2
----------------------------------------------------------------------------------------------------------------- b
T ]
-




a 35° angle, how wide is the ravine?

Round to the nearest tenth. X=14.3m

X=175m

X=205m

X=357m




lim f(x) = —oo, llm f(x) =

X——00

lim f(x) = —oo, llm f(x) =

X——00

lim f(x) = 00, llm f(x) —

X——00

lim f(x) = oo, llmf(x) = 00

1 X—>—00




